asym_usl

asym_dsl

asym_usr

asym_dsr

run6597 000 regression-asvm

| — —ani |
8000 — 8000 —
- - —anc
500D n e 5000 -
" n n —la5(
4000 [ u ni 4000 -
N N 30
2000 oo 2000 |
- - —25(
0 N 0
- n 200
2000 2000
—4p00 m ~4000 | 15
6000 [ ~6000 - 100
B m N
~BOO0 [ 100 ~B000 — a0
1'DDDU_ |III|III|III|III |III|III|III|III| D 1'DDDD_|I 1 1 I| 1 11 1 |III I| 1 1 II| 1 111 |IIII ﬂ
~100 -B0 -60 -40 -20 O 20 40 60 30 -20 10 0 10 20 30
diff_bpmXum diff_bpmdaYium
! . [bf .
| I | I
- —o0( -
- - —40(
1000 —80C 1000
[ i —{asi
- — 700 -
500 500 —30(
i —| 600 B
- . —25(
o™ 50 ol
B B 201
- 400 - =
~B00 =500 —
- a0 - 15(
- : 10(
1000 |- 200 ~1000
i 100 i 50
- [ | - |
_1EDD _I | 111 I 1 11 | 1 11 | 111 | 1 11 | 111 I 111 | 1 11 | D _1EDD —l 1 1 11 | | | | L1 11 | 1 1 11 | L1 11 | 1 111 ﬂ
~100 -B0 -60 -40 -20 O 20 40 60 30 -20 10 0 10 20 a0
difi _bpm1Xum difi_bpmda¥ium
10000 |- 10000 |- —Pu
B [ | R
, —10( ,
I I —40(
5000 — oo 5000 —
- . -
I I —30(
I . I
I I 20(
| = 400 I
5000 ~5000
: - : 100
= . =
N I T A FEE RS FARE R B Lt | | |
| 1 11 1 11 1 11 1 11 1 11 111 1 11 1 11 | I | 1 11 1 1111 | I T | 1 111 1 111
10000 —Yo0 a0 60 40 20 © 20 40 60 U 10000 20 T 0 10 20 an O
diff_bpm1Xum diff_bpmdaYium
L — L — _5'[:":
1500 1500 |
- n —40(
1000 — 80l 1000 |
500 500 - :
. —6or . P
. -
Uy 0 m
500 :— 400 =500 :— 200
~1000 | ~1000
n - 100
-1500 - 200 =1500 =
- . -
2000 ~2000
B | 1 11 I 1 11 | 1 11 | | | 1 11 | 111 I 1 1 I | 11 I | _l | I | | 1 11 1 | 1 11 | 1 1 |_L| 1 111 | 1 111

20 -1

8000 —70r
£000
N —goc
N [ |
4000 |-
C —150(
2000 -

o 400
2000 300
~4000 |

[ 200
6000
[ 100
~B000 n n
1'DDDD B 1 1 | L1 1 | L1 1 | L1 1 | 11 1 | L1 1 | L1 1 ﬂ
60  -40  -20 0 20 40 &0
difi_bpmdaX/um
(!jfL
| I
_ —|70c
1000
- —lgor
500 :— —50(
- W |
oF 400
i 30(
_500
i 200
~1000 |~
[ 100
- |
_15[:":' _I 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 ﬂ
B0 40  -20 ) 20 40 &0
difi_bpmdaX/um
difL
10000 - —e0C
- —lanc
i —70c
5000
I " | ot
i 50(
ﬂ L
. 400
| 00
~5000 - o0t
i 100
10000 _| Ll v v g baa v o e b 0
60 40  -20 ) 20 40 &0
difi_bpmdaX/um

l

: —anc
1500 5 o
1000 |

B —{ 600
500 -

" | —=00

o N

500 |

~1000 |

~1500

~2000
B | | 1 1 1 L1 1 | 11 1 | L1 1 |

malnde“t*“"“vs d

-40

Bpmﬁ

diff_bpmdeY

8000 [
- —{anc
6000 |-
- —ag¢
4000 |
[ —anr
2000
of
~2000 |
—4000
~6000 | I..I
_ ] ] ol ]
~B000 [ EE N =0
.1_[:'000 _I [ | | | I | I | I | | | I | | | I | | L 1 1 D
20 10 0 10 20
diff_bpmdaY/um
l
B a0
1000
i —{a5¢
500 —aoc
- —{o5(
o
- n 200
-0 = 150
B 100
-1000 |-
B 50
- |
_15[:":' _I [ | | L1 11 I L1 11 | L1 1 1 | L1 11 | L1 1 D
20 10 0 10 20
diff_bpmdaYium
10000 [~ e
N H BN
i —40(
5000 |-
I 300
ﬂ L
- 200
5000
- 100
I m m
- n
I L | | |
L 1 1 | I | | I | | I | | I | L 1 1
10000 20 10 0 10 20 o
diff_bpmdaY/um
diff hpméleY
1500 Hiss
: —{a0t
1000 |
- —a5¢
500
of
500 |
~1000 |
1500 [
E 50
2000 u
__I_ [ | | | I | I | I | | | I | | | I | | L 1 1

-
N

-2 =10

“postpan.png

;

- — —{80(
BUOD [ m
- N
N m —{Boc
6000 |-
N —{700
4000
N —{60C
2000
o 200
~2000 |
—4000
6000
~B000 _ l‘l
.1_DUUU_III|IIII|IIII|III|||III|IIII|IIIIII
150 -1000 -50 O 50 100 150
diif_bpm12¥/um
l-
| _
- —{501
1000
500 - — 400
B [ | [ |
or
[ =
~500 N
- 1000 = 100
B M
_15nn_l||||||||III|IIII|IIII|||||||I|||I ﬂ
150 -1000 -50 © 50 100 150
diff_bpm12X%/um
diff
10000 —
- N —0(
u H En
- —{8or
2000 = —701
I —{60c
D_
5000
- -
- |
[0 | | | | | L
111 1 111 1 111 1 111 1 111 1 111 1 111 1
10000 ="Jen “io0 50 0 50 100 18D
diif_bpm12x/um
-
- _
1500 | —(60(
1000 |
u —{501
- N
500
0
500
~1000
~1500 [
- 2000 '— "
B ||||II|IIII|IIII|IIII|||||||I|||I ﬂ

—1ED =100 =50 1] 50 100 150
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6597 000 regression-reg malrii:lef”"'

I
4000 —|20t 4000 —|45( 4000 7ot
i —aor i _ I
i i 400 i eoc
2000 - @ —70r 2000 —lagr 2000 — g
I I I —50t
I —{60( i —[30C B
n n
o ok =
I n 50( I 25( I 40
| | | N N
i 400 . 200 - 300
-2000 - 2000 | -2000
- a0t - 15( -
i m | I 300
-4000 - 200 ~4000 | 100 ~4000
- u - - 100
i u 10( i 50 i
i u | |
_E_DDDIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII I} _E_DDDIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ﬂ _EDDDIIIIIIIIIIIIIIIIIIIIIIIIII ﬂ
-100 -80 -BO -40 -20 O 20 40 60 ~30 20 -10 ) 10 20 an 60 40 =20 0 20 40 &0
diff_bpmXum diff_bpmdaYium diff_bpmdeXium
! . [bf l ! . [bf
I _ I
- —B0c - - —700
[ . —anc .
1000 e 1000 1000 i
i i —a5r i B0C
. —70r . _
500 500 —{300 500 —{50¢
[ o - -
- - 35( - . a0t
(1] — [ | 0L 1] N (1] — [ |
[ . 200 -
¥ ot C . i 300
~B00 =500 — =500 —
: 200 I 15( I
[ . . 200
- - 106 -
1000 [~ 200 1000 [ ~1000 [~
[ i _ 100
_ 100 _ 50 .
- [ | - | - |
_IEDD_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII D _1EDD—IIIIIIIIIIIIIIIIIIIIIIIIIIIIII {' _1EDD_IIIIIIIIIIIIIIIIIIIIIIIIII ﬂ
100 -B0 -BO -40 -20 O 20 40 60 30 20 10 ) 10 20 a0 &0 40  -20 ) 20 40 &0
difi _bpm1Xum difi_bpmda¥ium difi _bpmdeXsum
! * Ef 'l- l
= — — 800 — —
- - —anc - —70C
4000 - —{8oc 4000 |- 4000
- - —a5( - —lgor
3000 | . 3000 | 3000 |
- ul —30( —
2000 : - e 2000 : 2000 : - e
1000 | " 1000 | - 1000 | "
: | 50( - : 40(
0F eE 20 oF
- 40 - -
-1000 ~1000 -1000 | 30(
- 300 = 15 -
-2000 ~2000 -2000
- - » 300
- - 106 -
-3000 200 ~3000 . ~3000
- - | - 100
4000 |- . 100 _4000 “u 50 ~4000 n
- — ] —
_EDDD'|I|||I|||I|||I|||I|||I|||I|||I|||I o -E-I}DDI""I""I""I""I""I"" 0 _EDDD_IIIIIIIIIIIIIIIIIIIIIIIIII 0
~100 -80 -BO -40 -20 O 20 40 60 ~30 30 10 ) 10 20 an &0 40  -20 0 20 40 &0
diff_bpm1Xum diff_bpmdaYium diff_bpmdeXium
! . [bf - l
n —— n — —120C n ]
- - - - st
1500 1500 1500
- - - —{700
- " —anc -
1000 - —8or 1000 1000
- n - —lgoc
500 - 500 0 500 -
_ N 00 N u —20(
. 600 N N
I:I __ . I] __ . ﬂ __ .
500 :_ a0 ~500 :— 200 500 :—
~1000 | ~1000 ~1000 |
- 200 - 10( n
~1500 : - -1500: g B -1500: -
_so00 u 2000 2000
B I 111 I 1 11 I 1 11 I | I 1 11 I L 11 I 11 I I 11 I I B L 111 I L1 1 I | | I L 1 11 I L1111 I I L1 1 I B

~ diff “boim- €

- POS

—|45(

—35(

2000 .l

~2000 — I

500 - ., 100
i u 50
| [ |

IIIIIIIIIIIIIIIIIIIIIIIIIII

~6000 -20 -10 0 10 20 o

diff_ bpmdeYium

(!jfL
- —anc

1000 [

- —35¢
co0 - —anc
o
- N

_500

~1000 [~
i -

_IEI:II:I_IIIIIIIIIIIIIIIIIIIIIIIIIII I]

20 10 ) 10 20
ditf bpmdeYium
diff _ hpmélcY
—40(

4000
- —a5(

3000

2000 | —300

1000 - m

oE ™

-1000 |

-2000

~apoo |

-4000
- [ |

-EDDU_"'I""I""I""I""I"' o

20 10 0 10 20
diff_bpmdaY/um

diff _ _hpméleY

1500 Hiss
: —{a0t
1000
- —35(
500
o
500 |
~1000 |
~1500 |- -
: 50
~2000 b -
_IIIIIIIIIIIIIIIIIIIIIIIIIII

-20

tpan:pne

2000

= 2000

=4000

= 6000

diff_

1000

500

- 500

=1000

=1500

111 I I | I 1 111 I 1 111 I 1 111 I 1 111 I 1 111 I | ﬂ
~150 -100 -50 O 50 100 150
diff_bpm12X/um

101

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 0

=180 100 =50 1] 50 100 150
diff_bpm1 2X/um

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

~5000

1500

1000

200

- 500

=1000

=1500

=2000

300

201

100

bl tvv v brvva b rr bv v v e b 0

“150 -100 -50 O 50 100 150
diff_bpm12X/um

el b b by s leaaa Iy 0
—‘IED 100 =50 1] 50 100 150
diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

run6597 000 resression asym maindef vs d

diff_bpm1X

I } %2 / ndf 14.03 /18
4000 } p0 0.6819 + 93675
p1 -4013 £1.25

2000 “_

=2000

=
I I I I I 1 I I 1 I I 1 I I
1
—_—
—_—
/-:'—
-+
[P
1

4000 — -

1000 -80 -60 -40 -20 O 200 40 60

diff_bpm1X

¥2 | ndf 21.97 /18
pO 0.7942 + 1.5283
p1 0.02908 £ 0.20078
100 J ]l )
of M

: h Hl
-100 } *
~200
-300
_WD:IlllI|III|III|III|III|III|III|III|

1000 -80 -60 -40 -20 O 20 40 6O

diff_ bpm1X

%2 / ndf 20.24 /18

p0 -4.993 + 8.552

p1 70.33 £1.14 j
1000 — {Hﬂ
~1000 — } } /
-2000 — HH*
~3000 — )

1000 -80 -80 -40 -20 O 200 40 B0

diff_bpm1X

i %2 ndf 8.243/18 i w2 | ndf 37.07 / 40
400 [ p0  —0.1005 £ 1.7947 400~ n0 —0.954 + 1.783
soo - i p1 —0.3684 + 0.2373 200 |- »H p1 —0.3835 + 0.3114
_ / -
=200 _— =200 _—
400 _a00 |
_I|III|III|III|II|III|III|III|III| _|IIII|IIII|IIII|III_|_|IIII|IIII|

dlthpmélaL

¥2 / ndf 4493/ 40

p0 -15.57 £9.33 |

p1 67.37+1.63 N}W

m N

=1000

=2000

=3000

|

Lo v b by P Iy g |
=30 =20 =10 0 10 20 30

°1

iff bpmdaY

“0of %2/ ndf 4012 / 40
S0E 00 1.339 + 1,522
200 —
E p1 —-0.2086 £ 0.2675
100 | M A
3 e
~100 }
-zm:uf—
_:mnf—
_WD:_llIII|IIIIIIIIIlIIII|IIII|IIII|
30 -20 10 0 10 20 a0
¥2 / ndf 4? 4/ 40 |
p0 -13.71 £ 8.79 }
p1 74.07 + 154 } ﬁ] |
of }
C Hp I
1000 = 7 | w}
~2000 _ }
~3000
JEEEEE NN NN NN N
30 -20 10 0 10 20 30

diff_bpmdayY

diff_bpm4eX

%2/ ndf 18.64 / 23
4000 ) p0 ~0.3881+ 9.4035
p1 -3478+1.28

2000

=2000

(=
| I I I I I 1 I I I 1 I I I I I I I I I I I
e

j

=4000

PN N T N T T N I Y B OB
-60 -40 =20 0 20 40 60

diff_bpmdeX

+2 | nat 14.99/ 23
PO 0.8516 + 1.5277
Pl 0.07543+ 0.20417
T I

ué— _ HﬁM}I{M I
—‘H}DE— |;
-EDDE—
-:mnf— i
a0 |

N D N T B

-60 -40 20 0 20 40 60

diff_bpmdeX

%2 / ndf 2535/ 23

p0 -5.826 + 8.458

pt 78.14 +1.15 r )
2000 _ Hﬂu )

! t
ok ) -

_s000 |- - PM#J#
—-!I-DDD:I'IllIII|III|III|III|III|III

-60 -40 =20 1] 20 40 60

diff_bpmdeX

Z_ 2/ ndf 19.72 /23
400 ‘ p0  0.05808 + 1.79237
200 f— ) p1 —0.4706 + 0.2411
ﬂf— _ HH#MTHM
-200 — _ _
~400 —

“bpm-fit postpan.png

diff_bpmdeY

¥2 / ndf 37.96 /40

p0 -11.96 £ 9.24
p1 85.9+t1.8 {
2000 }

o

oF |
diff_bpmdeY

m:_ p0 1.648 £ 1.526
Pl —0.02272 + 0.29539
'+} N

b | st
i i

=20 =10 0 10 20

diff_bpmdeY

¥2 / ndf 31.56 / 40

p0 -10.96 = 8.70
p1 91.14 +1.70 *1‘1“}
1000 - +1+H H”
of - |
1000 — } hr -
: | W“
~2000 -
-:mnni— }
4000 —
:| I N T T N T T T A I 0 O A A O A A
-20 10 0 10 20
500 - +2 { nf 31.24 / 40
400 | p0  —0.9793 + 1.7888
m;_ p1 —-0.3157 £ 0.3448
;mn;— |
mnf— I | '
RN RS
. } {\ ! P A |
-mn;—
-zﬁni—
-:mni—

10

diff _

gono [~ —

S x2 / ndf 30.84 /29
6000 [ _tﬂ N

- } " p0 4633 £5.7/12
4000 [ T

- p1 -0b6.07 £ 0.23
2000

of

~2000 |
~4p00 |- K .
~6000 | 41411_ f
~8000 | #

[11 1 1 | 1 111 | 1111 | 11 11 | 1111 | 1 111 | 1 111 I 1

=180 100  -50 0 50 100 150

diff bpmli2X
%%/ ndf 37.37/29

pO 1.118 +£1.530 e

p1 0.06877 £+ 0.06141

s !

-180 100 50 0 50 100 150

diff_

- ¥2 ! ndf 24.36 /29
8000 {
ooof- M p0  3.693+5975
4000 [ #{"fﬂh p1 -49.92 + 0.24
2000
o
~2000
- o
~4000 [ L
- fr
~6000 - 4
—E-[I'EIU:— +_
ool by b b e bvaaa I

-180 100 50 0 50 100 150

diff_bpm12X

1=/ ndf 24.91/29
po -0.6803 £ 1.7958 ,
p1 01047 £ 0.0722
| H
200

[Mww ﬁ

-150  -100  -50 0 50 100 150

- 200

-400




reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

diff bpm1X

2 { ndf 17.43 /18
n0 6.344 + 5224

p1 0.7042 + 0.6866

3 HM

=500

=1000

=1500

=2000

-I-IIIIIIIIIIIIIIIIIIIIIIIII

1000 -80 -60 -40 -20 O 200 40 60

diff_bpm1X

¥2  ndf 22.07/18
pO 0.8183 =+ 1.5280
p1 0.01549 + 0.20074
100 J ]l )
of - M

: h Hl
-100 } {
-200
300 |-
_WD:IlllI|III|III|III|III|III|III|III|

1000 -80 -60 -40 -20 O 20 40 6O

diff_bpm1X

|- 72 ndf 2491718
1500 N p0 0.2663 £ 5.2452
- pi -0.4377 £ 0.6900
1000 —
500 }
" i
of h‘wﬂw
_5|}[;|:— }
_||||||||||||||||||||||||||||_||||||

1000 -80 -80 -40 -20 O 200 40 B0

diff_bpm1X

¥ | naf 79711
p0 —0.09805 + 1.79413 -

p1 0.04192 + 0.23724

-

=200

=400

'I_I|III|III|III|II|III|III|III|III|

%

1500

1000

500

- 500

=1000

=1500

bpm4aY

°1

=100

=200

=300

~ 400

- %2 { ndf 2214 / 40
s pO0 5.493 + 5.215
- p1 -0.1286 = 0.9037
A9 T —

N ; il |

——l 1 11 1 | 111 1 I 1 1 11 | 11 11 | L1 1 1 | 1 1 I_I |

=30 =20 =10 0 10 20 a0
:_ %2 [ ndf 40.7 / 40
3 p0 1.322 + 1.522
. p1  —0.0803 = 0.2674
3 | MHEWF L #%H}} ﬁ

__l 111 1 | L1 1 1 I 11 11 | L1 11 | L1 1 1 | L1 1 1 |

=30 =20 =10 0 10 20 30

diff_bpmdaY

%2 | ndf 30.82 / 40 F - ¥2 { ndf 28.99 / 23
p0 _4.983 + 5.026 1500 p0  —0.00109 + 5.24110
p1 0.2212 =+ 0.9159 1000 _ p1 —0.1429 + 0.7019
500 :— 3 5.[;.[;,:— ) __ 1

- H " Hﬁ 5
ﬂ:— }WMH of I H b b d |H
500 | : | : '
- 1 ~500 = dl )
~1000 l i
:||||||||||||||||||||||||||||||| _1{}DD:||||||||||||||||||||||||||
30 -20  -10 0 10 20 a0 60  -40  -20 o 30 40 &0
diff_bpmdaY diff_bpmd4eX
I %% | ndf 37.08 /40 BOD ™ ¥¢ { ndf 19.26 / 23

400 - -

. p0 —0.9527 + 1.7828 400 p0 0.06861+ 1.79181

00 »H p1 —0.07689 + 0.31117 500 - i p1 —0.03616 + 0.24103

of - } W{{m##wﬂwﬁ% W o HH#%MMM ‘
o0 - } _zm:— )
: ~A00 __
~400 [
- D __
_| | I | I L1 1 I | I | | L1 11 | L 1 11 | L1 11 | :I || | L1 1 I 1 1 | || 11 | 11 1

run6597 000 resression reg maindet v

dlf “bpm

diff_bpmdeX

12/ ndf 16.36 / 23

p0 .60 + 522

p1 06112 + 0.6957

Tt

-500

=1000

=1500

=2000

_I_IIIIIIIIIIIIIIIIIIIIIIIIIII

PN N T N T T N I Y B OB
-60 -40 =20 0 20 40 60

diff_bpmdeX

-2500

2/ ndf 15.25/ 23
pO 0.8791 + 1.5274
p1  0.03231 + 0.20413
O = I

n%— - HTMMH{M 4
100 }
_s00 [
a0 _ }
_apn [

S I B T A N

-60 -40 20 0 20 40 60

:
E

.

d

bpmdeY

E %</ ndf 37.43 740
1000 [
Z p0 6.746 £ 5.233
500 [~
! + p1 —0.4691+£ 1.0042
? W
|
~1000 |-
~1500 |
—aoo0
_|||||||||||||||||||||||||||
20 -10 0 10 20
%2 [ ndf 54 04 /40
pO 1.647 + 1.526

p1 0.0701+ 0.2953

°r ‘l} Pt } ||
_znu:— {
400 |- }
_I 1 1 | | I | I 11 1 1 | | I | | | I I | | 1 1 1
~50 T 0 10 20
E I ndf 24 59740
p0 —-4.47 +5.24
p1 0.1949 + 1.0148 |
gL
3 RIS, :
g: } WH i
-500 |- } } -
~1000 —
~1500 —
N N I I AT AN AN S A A
-20 10 0 10 20
diff bpmdeY
%% | ndf - 30.82 /40
p0 ~0.981+ 1.788

p1 0.08758 + 0.34472

EL |

=20 =10

-fit postpan.png

diff_bpm12X

%2 [ ndf 2114729

p0 7662 + 5.244

p1 0.225809 + 0.2103

- 500

=1000

|||||||||||||||||||||||||||||||||_||
=150 =100 =50 0 a0 100 150

diff_bpm12X

¥2 / ndf 3773129
pO 1.137 £ 1,530 ]
Pl 0.02369 + 0.06140
of HWMW }
-200 — k
400 - -
'||||||||||||||||||||||||||||||||||I|

-180 100 50 0 50 100 150

diff_bpm12X

- 12 1 ndf 22.82 /29
1000 B p0 —3.328 £ 5.256
- p1 -0.1816 £ 0.2114
500
oF WMM |
—EQDE'
-mnn:— '][
Do lv v bvvv e b v bvvra by v b rara b

-180 100 50 0 50 100 150

diff_bpm12X

¥/ ndf 25,3/ 29
pO —0.6389 £ 1.7952 _
p1 0.06137 £ 007213
I N

200 |- [

o »M p
_o00 [ -
—mn;‘lllllllll|||||||||||||||||||||-|||I|

-150  -100  -50 0 50 100 150



asym_usl

asym_dsl

asym_usr

asym_dsr

run6597 000 re

8000

6000

4000

2000

=2000

=4000

-6000

~B000

10000

1000

500

-500

=1000

=1500

10000

5000

=5000

10000

1500

1000

500

-500

=1000

=1500

=2000

-1HD -80 -60 -40 =20 O 20 40 60

diff_bpmXum

-100 -80 -0 -40 -20 O 20 40 6O

difi _bpm1Xum

-100 -80 -0 -40 -20 O 20 40 60

diff_bpm1Xum

—1DD -80 -60 40

oressl

8000

6000

4000

2000

=2000

=4000

6000

==
IIIIIIIIIIII|III|III|IIIIIIIIIIIII

~8000

10000

|
E —
[

2

[

—

=

=

—

=

B

=

diff_bpmda¥ium

1000

500

=500

=1000

=1500

=30 =20 =10 1] 10 20 a0
diff_bpmda/um

10000

5000

~5000

10000

diff_bpmda¥ium

1500

1000

500

=500

=1000

=1500

=2000

g_

8000

6000

4000

2000

= 2000

=4000

~6000

-8000

10000

1000

500

~500

=1000

=1500

10000

5000

~5000

10000

1500

1000

500

- 500

=1000

=1500

=2000

on-asym ifia*inde“tmmvs d

diff _bpmdeX/um

diff_bpmdaX/um

diff _bpmdeX/um

“bpms=scat

8000

6000

4000

2000

= 2000

=4000

= 6000

~8000

10000

1000

500

~500

=1000

=1500

10000

5000

=5000

10000

1500

1000

500

-500

= 1000

= 1500

= 2000

_postpand"

10 0 10 20
diff_bom4eY/um

_bpmdeY

=10 0 10 20
diff_bpmday/um

10 0 10 20
diff_bpmdaY/um

20

8000

6000

4000

2000

= 2000

=4000

~6000

-8000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII|III|I

1 1 | I | | 1 111 | 1 111 | 1 111 | 1 111 | 1 111 I |
~150 -100 -50 O 50 100 150
diff_bpm12X/um

10000

1000

00—

500 —

=1000 =

=1500 =

v v by by s by ey s by o by
=150 -100 =50 0 50 100 150
diff_bpm12Xium

iff_ bpmI12X

10000 —

5000 —

5000 —

bl bvvvr b b na b |||} AN
o000 =180 =100 -850 1] B0 100 180
difi_bom12Xium

1500

1000

200

- 500

=1000

=1500

=2000

e v b v v b a beaaa Iy
=150 -100 =50 1] 50 100 150
diff_bpm12X/um




I
4000 R 4000 4000 4000 4000
2000 2000 2000 2000 2000
o ok = ok ok
g_ y — ~2000 - 2000 | -2000 ~2000 ~2000 —
~4000 - R 4000 — o T —4000 - S ~4000 |- N ~4000
_E_DDD_Illllllllllllllll|III|III|III|III| _E_DDD_lllllllllI|IIII|IIII|IIII|IIII _E.DDD_IllllllllllIII|III|III|III _Eﬁnn_lllllllllllll|IIII|IIII|III _ﬁﬂnn_llllIIII|IIII|IIII|IIII|IIII|IIII|I
-100 -80 -BO -40 -20 O 20 40 60 ~30 20 -10 ) 10 20 a0 60 40 =20 0 20 40 &0 -20 10 0 10 20 ~150 =100 =50 ) 50 100 150
diff bom1Xum diff_bpmdaYium diff bpmdeX/um diff_ bpmdeYium diff_bpm12X/um
! . [bf ™ . . .
| | I | I | I | I
1000 |~ 1000 [~ 1000 |~ 1000 |~ 1000 [~
500 500 500 500 500
ID_— II]_— \ II]_— ID_— II]_—
1000 [~ 1000 [ ~1000 [~ ~1000 [~ ~1000 [~ o
_1EDD I|III|III|III|III|III|III|III|III| _1EDD—|IIII|IIII|IIII|IIII|IIII|IIII _15DD_II|III|III|III|III|III|III _1EDD_I _15nU_III|IIII|IIII|IIII|IIII|IIII|IIII|I
100 -B0 -BO -40 -20 O 20 40 60 30 20 10 ) 10 20 a0 &0 40  -20 ) 20 40 &0 “150 -100  -50 ) 50 100 150
diff bpml Xium diff bpmda¥ium diff bpmdeX/um diff_bpm12X/um
* ™ ® ® *
4000 4000 4000 4000 4000 — )
nono 000 3000 anono 00 —
2000 2000 2000 2000 2000 —
1000 1000 | 1000 1000 1000 |
o = = oF oF
I'eg aS " m llSI' -1000 [~ 1000 |~ ~1000 [ ~1000 [ 1000
-2000 ~2000 -2000 -2000 ~2000
~aoo0 | ~apo0 | ~3000 | ~apoo | ~ao00 |
-4000 -4000 -4000 -4000 . -4000 | :
_EDDD:|||||||||||||||||||||||||||||||||| —E-I}DD:| —E-I}DD:"|"'l"""'l"'l"'l"' -EDDU:"'|""I""l""""'l"' -EI}DU:"'|""l""l""l”"l""l""ll
~100 -80 -BO -40 -20 O 20 40 60 ~30 &0 40  -20 0 20 40 &0 20 10 0 10 20 ~150 -100  -50 ) 50 100 150
diff _bom1Xium diff_bpmda¥ium diff bpmdaX/um diff_bpmdaY/um diff_bpm12X/um
. . . . .
- I - I - I - - I
1500 _ 1500 | EE 1500 _ 1500 1500 |
1000 1000 | 1000 1000 1000 |
500 " 500 500 500 - 500
o o : o o o
reg_asym_dsr sof o of wf ot
I I - - - - -
~1000 | ~1000 ~1000 | ~1000 | ~1000
1500 ~1500 [ ' ~1500 1500 [ ~1500 [
~2000 ~2000 ~2000 ~2000 ~2000
B [ Lol '|||_|_||||||||||||||||||||| B SEREERERENEERE RN NN RN TERRA N

||||h|||||||_|_|||||| |
- =10 o 1 20 a0 =10 =150 -100 =50 1] 50 100 150

run6597 000 regression-reg maindet vs diff bpm-scat postpan.png-

g_



